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  (1) -I         
  (2)         
 

-I 
           
1. (A)                

   10 

  (i) 
 
 ..(2x + 5)7 dx (ii) 

 
 ..

1
3x + 4  dx  

 (B)                
      10 

  (i) 
0

5
 ..x (5 – x)4 dx (ii) 

4

10
 .. 

14 – x
x + 14 – x dx 

 2. (A)             x    
   P(x = 2) = P(x = 3) ,      
   P(x = 0) = e–3 10 
 (B)    4   6             5   ,  

 -- 2               
     10 

 

3. (A)                  

      –X  R          
       10 

 1 2 3 4 5 6 7 8 9 10 
–X 20 22 19 18 22 25 26 24 22 20 
R 2 3 1 4 3 0 1 2 3 4 

    [n = 5   A2 = 0.58, D3 = 0, D4 = 2.12]  
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 (B) p-  c-              
   100     10          2, 
4, 8, 12, 2, 0, 1, 2, 3  6               
    10 

 
4. (A)             (2000, 100, 2)  

  AQL = 0.02  LTPD = 0.06 ,           
  [e–2 = 0.1353, e–6 = 0.006737]   10 
 (B) ASN, AOQL  ATI             10 

 Pa 
(2000, 200, 1) 0.89 
(1000, 100, 2) 0.92 
(4000, 200, 3) 0.85 

 
-II 

5.           10 
 (1) xm   ________   5x   ________   
 (2)        MR = 100 – 2x ,      P, 5  

  _______   
 (3)     x   m ,    = _______   = _______ 

  
 (4)     x   P(x = 0) = e–3 ,    = ______   
 (5)       ,      _______    
 (6)        ________      ________ 

      
 (7) p-          
 (8)    LCL       ______       

   ________      
 (9)        OC     ________    
 (10) AOQL  ATI       

____________ 


